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Ideals for irreducible component#ﬂ)f Xpar

I = (w® +u* + . —du—1)

* 1 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(u®4+u'"+- .- —4u—1)

(i) Arc colorings

ul® + 7ul + 200t + 2702 + 1100 — 1308 — 16w’ — 6ut —u2 +1
w20 + 8u18 + 26u10 + 40u + 1902 — 24419 — 30u® — 2ub + Hut — 202

(—u31 — 120+ - 4 — 2u>

ag =
ag = \ —u33 — 133 + .-  —18u5 4+ u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’” + 446 + ... — 40u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C7,Co u® 4130+ — 2002 + 1
Co,C8 ut® — 4 -1
€3,C4, C
3,C4,Co W AT 81
C10
48 47
Cs5,C11,C12 urHut s —du—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C7,C9 y48+45y47+--~—40y—|—1
c2,C8 " 134 =207 4+ 1
€3,C4,Cp y*® — 55y - 4+ 16y + 1
C10
C5,C11, C12 y48 + 37y47 4+ 40y2 +1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

u = —0.902489 + 0.0130881

—11.82170 + 3.209691

—16.0349 — 3.59791

u = —0.902489 — 0.0130881

—11.82170 — 3.209691

—16.0349 + 3.59791

u = —0.896963 + 0.0397911

—5.15426 + 8.270361

—11.18543 — 5.308301

u = —0.896963 — 0.0397911

—5.15426 — 8.270361

—11.18543 + 5.308301

u = 0.106016 + 0.8900461

4.71074 + 2.899351

—6.28054 — 2.452781

u= 0.106016 — 0.8900461

4.71074 — 2.899351

—6.28054 + 2.452781

u=0.888507 + 0.0376591

—4.44635 — 2.207061

—10.05242 4- 0.419321

u= 0.888507 — 0.0376591

—4.44635 + 2.207061

—10.05242 — 0.419321

u= 0.888170

—8.51708

—10.0950

uw=0.208888 + 1.1363801

—0.286683 — 0.6337631

—12.86737 4 0.1

uw= 0.208888 — 1.1363801

—0.286683 + 0.6337631

—12.86737 4 0.1

u = —0.055446 + 1.2422301

3.87211 + 1.666871

—8.00000 + 0.1

u = —0.055446 — 1.2422301

3.87211 — 1.666871

—8.00000 + 0.1

u = —0.172886 + 1.2320501 2.76935 4 2.339141 0
u = —0.172886 — 1.2320507 2.76935 — 2.339141 0
u=0.237255+ 1.2496101 0.73776 — 5.428441 0
w=0.237255 — 1.2496101 0.73776 + 5.428441 0
w=0.429212 + 1.2456101 —0.71161 — 2.503581 0
u= 0.429212 — 1.2456101 —0.71161 + 2.503581 0
u = —0.438389 + 1.2462101 —1.42518 — 3.501081 0
u = —0.438389 — 1.2462101 —1.42518 + 3.501081 0

u = —0.100503 + 0.6712221

4.73942 + 2.933011

—5.08982 — 3.478481

u = —0.100503 — 0.6712221

4.73942 — 2.933017

—5.08982 + 3.478481

u = —0.206929 + 1.3156307 7.95747 4 2.836441 0
u = —0.206929 — 1.3156301 7.95747 — 2.836441 0
u = —0.006952 + 1.3322807 10.37430 + 3.076541 0
u = —0.006952 — 1.3322801 10.37430 — 3.076541 0
u=0.220070 + 1.3168001 7.61366 — 8.959841 0
uw= 0.220070 — 1.3168001 7.61366 + 8.959841 0
u = —0.435687 + 1.2717901 —7.91815 + 1.570731 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.435687 — 1.2717901 —7.91815 — 1.570731 0
u= 0420722 + 1.2795101 —4.54259 — 4.682941 0
u=0.420722 — 1.2795101 —4.54259 4 4.682941 0

u= 0.601719 + 0.2189801

2.84333 — 6.051381

—9.37196 + 7.328901

u= 0.601719 —0.2189801

2.84333 + 6.051381

—9.37196 — 7.328901

u = —0.429025 4 1.2926207 —7.75996 + 7.969661 0
u = —0.429025 — 1.2926201 —7.75996 — 7.96966.1 0
u= 04138174 1.3071101 —0.25199 — 6.870391 0
u= 0413817 —1.3071101 —0.25199 + 6.870391 0
u = —0.418825 4 1.3103001 —0.94233 + 12.979101 0
u = —0.418825 — 1.3103001 —0.94233 — 12.979101 0

u = —0.571774 + 0.2318221

3.16611 4 0.084111

—8.52562 — 2.229031

u = —0.571774 — 0.231822]

3.16611 — 0.084111

—8.52562 + 2.229031

u = 0.606213 + 0.0827181

—3.31656 — 2.392761

—16.3721 4 5.88051

u = 0.606213 — 0.0827181

—3.31656 + 2.392761

—16.3721 — 5.88051

u = —0.476571

—0.944117

—10.2930

u = —0.202351 4 0.2640571

—0.411106 + 0.8454221

—8.88692 — 7.799871

u = —0.202351 — 0.2640571

—0.411106 — 0.8454221

—8.88692 + 7.799871




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1, €7, Cy w8 £ 13udT £ —20u2 + 1
C2,C8 u® -t 4 -1
C3,C4, C
3, C4, C6 u48_u47+"'—8u—1
C10
48 | 47
C5,C11, C12 u+ut e —du—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C7,C9 y*® 45y o — 40y + 1
Ca, Cs Y 13y - 2007 + 1
C3,C4,Co y*® — 55y 4+ 4+ 16y + 1
C10
C5,C11, C12 y48+37y47+'-~+40y2+1




